i mport requests

from bs4 inport Beautiful Soup

i mport nltk

fromnltk.tokenize inport
sent _t okeni ze, word_t okeni ze
fromnltk.corpus inport stopwords
fromcollections inport

Count er

import matplotlib. pyplot as plt
from wordcl oud inport Wrdd oud

# Downl oad required

NLTK resources

nl t k. downl oad(' punkt"')

nl t k. downl oad(' st opwor ds')

def getContent(url):

response = requests.get(url)
text _content ="'

i f response. status_code == 200:

soup = Beauti ful Soup(response.content, 'htm.parser')
par agraphs = soup.findAll ('p')

for paragraph in paragraphs:
text_content += ' ' + paragraph.text
el se:

print(f'Failed to retrieve the webpage. Status code: {response.status_code}')

return text_content.strip()

def processContent(text):
sentence_list = sent_tokenize(text)

stop_words = set(stopwords.words('english'))
filtered_words = []

for sentence
in sentence_list:
words = word_t okeni ze(sent ence)
filtered_words. extend([word
for word in words if word.lower() not in stop_words and word.isal pha()])

return
filtered words

def wordFrequency(filtered_words):
word_counts = Counter(filtered_words)

return word _counts

def bar GraphFrequency(word_counts):
plt.figure(figsize=(10, 6))

plt.bar(list(word_counts. keys()), list(word_counts.values()))
pl t. xl abel (' Wrds')

plt.yl abel (' Frequency')
plt.title(' Wrd Frequencies')
plt.xticks(rotation=45)

plt.show()

def barWor dcl oudFr equency(wor d_count s)
wor dcl oud = Wor dd oud(w dt h=800,
hei ght =400, background_col or="white').generate_from frequenci es(word_counts)

plt.figure(figsize=(10, 6))
pl t.i mshow wordcl oud, interpolation="bilinear")



plt.axis(' off")
plt.title(' Wrd C oud')

plt.show()
plt.figure(figsize=(10, 6))

plt.bar(list(word_counts.keys()), list(word_counts.values()))
pl t.xI abel (' Wrds')

plt.yl abel (' Frequency')
plt.title(' Wrd Frequencies')
plt.xticks(rotation=45)

plt.show()
url = input("Please enter the URL: ")
text =

get Content (url)

filtered_words = processContent (text)

print(filtered_words)

word_counts =

wor dFr equency(filtered_words)

for word, count in word_counts. nost_conmon():
print (word,

": ", count)

top_N = 10

top_word_counts = word_counts. nost_conmmon(top_N)

wor ds,
counts = zip(*top_word_counts)

bar G aphFr equency( Count er (di ct (zi p(words,
counts))))
bar Wor dcl oudFr equency(wor d_count s)
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